

			BIDDER NO. 1		BIDDER NO. 2		BIDDER NO. 3		BIDDER NO. 4		BIDDER NO. 5		BIDDER NO. 6		
			Kruczek Construction, Inc.		David Tenor Corporation		Jossart Brothers, Inc.		PTS Contractors, Inc.		De Groot, Inc.		Feaker & Sons Co., Inc.		
ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
SANITAR	SEWER	•				-	-	-	-	-	-	-		-	-
SS-01	Remove and Relay 6" or 4" PVC Sanitary Lateral	LF	780	\$110.00	\$85,800.00	\$93.00	\$72,540.00	\$74.00	\$57,720.00	\$125.00	\$97,500.00	\$91.54	\$71,401.20	\$130.00	\$101,400.00
SS-02	Provide Sanitary Sewer Risers	VF	12	\$98.00	\$1,176.00	\$80.00	\$960.00	\$150.00	\$1,800.00	\$100.00	\$1,200.00	\$151.50	\$1,818.00	\$130.00	\$1,560.00
SS-03	Provide 6" or 4" Saddle to Existing Sanitary Sewer	EA	23	\$418.00	\$9,614.00	\$850.00	\$19,550.00	\$1,500.00	\$34,500.00	\$1,240.00	\$28,520.00	\$2,077.55	\$47,783.65	\$750.00	\$17,250.00
SS-04	Verify Active Sanitary Sewer Lateral	EA	5	\$918.00	\$4,590.00	\$100.00	\$500.00	\$500.00	\$2,500.00	\$145.00	\$725.00	\$202.00	\$1,010.00	\$900.00	\$4,500.00
SS-05	Sanitary Sewer Lateral Cleanout (Undistributed)	EA	5	\$411.00	\$2,055.00	\$425.00	\$2,125.00	\$750.00	\$3,750.00	\$520.00	\$2,600.00	\$382.39	\$1,911.95	\$430.00	\$2,150.00
SS-06	Pipe Burst 6" or 4" HDPE Sanitary Sewer Lateral	LF	520	\$10.00	\$5,200.00	\$10.30	\$5,356.00	\$10.30	\$5,356.00	\$10.00	\$5,200.00	\$10.40	\$5,408.00	\$10.30	\$5,356.00
SS-07	Provide Pipe Burst Connections (Home and Sanitary Sewer Main)	EA	8	\$4,980.00	\$39,840.00	\$3,345.00	\$26,760.00	\$3,350.00	\$26,800.00	\$3,310.00	\$26,480.00	\$3,380.98	\$27,047.84	\$3,090.00	\$24,720.00
SS-08	Extra Pipe Burst Excavation	EA	8	\$610.00	\$4,880.00	\$6.18	\$49.44	\$620.00	\$4,960.00	\$310.00	\$2,480.00	\$624.18	\$4,993.44	\$515.00	\$4,120.00
SS-09	Provide Pre-Pipe Burst Lateral Televising	EA	8	\$150.00	\$1,200.00	\$155.00	\$1,240.00	\$155.00	\$1,240.00	\$150.00	\$1,200.00	\$156.05	\$1,248.40	\$155.00	\$1,240.00
SS-10	Pipe Burst Pipe Acceptance and Televising	EA	8	\$150.00	\$1,200.00	\$155.00	\$1,240.00	\$155.00	\$1,240.00	\$150.00	\$1,200.00	\$156.05	\$1,248.40	\$206.00	\$1,648.00
SS-11	Provide Sump Pump Basin (Undistributed)	EA	8	\$300.00	\$2,400.00	\$310.00	\$2,480.00	\$310.00	\$2,480.00	\$305.00	\$2,440.00	\$312.09	\$2,496.72	\$1,030.00	\$8,240.00
SS-12	Provide 5' Cured In Place Spot Liner for 8" Sanitary Sewer	EA	2	\$2,675.00	\$5,350.00	\$2,750.00	\$5,500.00	\$3,100.00	\$6,200.00	\$2,675.00	\$5,350.00	\$2,340.68	\$4,681.36	\$2,705.00	\$5,410.00
SS-13	Provide Chemical Grout Lateral Connection to Spot Liner	EA	1	\$1,430.00	\$1,430.00	\$1,450.00	\$1,450.00	\$1,450.00	\$1,450.00	\$1,425.00	\$1,425.00	\$1,489.75	\$1,489.75	\$1,450.00	\$1,450.00
SS-14	Provide 30'-15" Sanitary Sewer Spot Repair (Broadway at Randall)	LS	1	\$12,900.00	\$12,900.00	\$11,000.00	\$11,000.00	\$17,750.00	\$17,750.00	\$13,870.00	\$13,870.00	\$12,189.28	\$12,189.28	\$9,150.00	\$9,150.00
STORM SEWER															
ST-01	Remove and Relay 18" RCP Class IV	LF	385	\$90.50	\$34,842.50	\$93.00	\$35,805.00	\$95.00	\$36,575.00	\$101.00	\$38,885.00	\$89.02	\$34,272.70	\$91.00	\$35,035.00
ST-02	Remove and Relay 12" PVC, RCP Class III, or PP Storm Sewer	LF	10	\$105.00	\$1,050.00	\$92.00	\$920.00	\$66.00	\$660.00	\$290.00	\$2,900.00	\$81.00	\$810.00	\$78.00	\$780.00
ST-03	Provide 15" PVC, RCP Class III, or PP Storm Sewer	LF	360	\$70.00	\$25,200.00	\$92.00	\$33,120.00	\$86.00	\$30,960.00	\$95.00	\$34,200.00	\$82.08	\$29,548.80	\$81.00	\$29,160.00
ST-04	Provide 12" PVC or RCP Class III, or PP Storm Sewer	LF	460	\$56.00	\$25,760.00	\$76.00	\$34,960.00	\$66.00	\$30,360.00	\$85.00	\$39,100.00	\$78.55	\$36,133.00	\$71.00	\$32,660.00
ST-05	Provide 8" PVC Storm Sewer	LF	1130	\$50.00	\$56,500.00	\$74.00	\$83,620.00	\$66.00	\$74,580.00	\$67.00	\$75,710.00	\$58.44	\$66,037.20	\$69.00	\$77,970.00
ST-06	Provide 6" PVC Storm Sewer Lateral	LF	880	\$46.00	\$40,480.00	\$67.00	\$58,960.00	\$59.00	\$51,920.00	\$66.00	\$58,080.00	\$50.65	\$44,572.00	\$85.00	\$74,800.00
ST-07	Provide 18"X6" Storm Branch or Inserta Tee	EA	2	\$286.00	\$572.00	\$400.00	\$800.00	\$250.00	\$500.00	\$128.00	\$256.00	\$472.68	\$945.36	\$250.00	\$500.00
ST-08	Provide 15"X6" Storm Branch or Inserta Tee	EA	1	\$286.00	\$286.00	\$400.00	\$400.00	\$250.00	\$250.00	\$128.00	\$128.00	\$422.18	\$422.18	\$250.00	\$250.00
ST-09	Provide 8"X6" Storm Branch or Inserta Tee	EA	17	\$145.00	\$2,465.00	\$180.00	\$3,060.00	\$150.00	\$2,550.00	\$185.00	\$3,145.00	\$329.26	\$5,597.42	\$175.00	\$2,975.00
ST-10	Remove and Replace 4' Diameter Storm Manhole	VF	13	\$700.00	\$9,100.00	\$950.00	\$12,350.00	\$865.00	\$11,245.00	\$806.00	\$10,478.00	\$1,062.10	\$13,807.30	\$770.00	\$10,010.00
ST-11	Provide 4' Diameter Storm Manhole	VF	60	\$600.00	\$36,000.00	\$950.00	\$57,000.00	\$815.00	\$48,900.00	\$714.00	\$42,840.00	\$964.17	\$57,850.20	\$770.00	\$46,200.00
ST-12	Remove and Replace Type B Catch Basin	EA	1	\$3,750.00	\$3,750.00	\$3,075.00	\$3,075.00	\$3,200.00	\$3,200.00	\$3,515.00	\$3,515.00	\$3,421.55	\$3,421.55	\$3,300.00	\$3,300.00
ST-13	Remove and Replace Type B Inlet	EA	7	\$3,343.00	\$23,401.00	\$3,075.00	\$21,525.00	\$3,300.00	\$23,100.00	\$2,985.00	\$20,895.00	\$3,421.55	\$23,950.85	\$3,300.00	\$23,100.00
ST-14	Provide Type B Inlet	EA	7	\$3,343.00	\$23,401.00	\$3,075.00	\$21,525.00	\$3,100.00	\$21,700.00	\$2,750.00	\$19,250.00	\$3,421.55	\$23,950.85	\$3,300.00	\$23,100.00
ST-15	Connect to Existing Pipe	EA	9	\$1,100.00	\$9,900.00	\$750.00	\$6,750.00	\$500.00	\$4,500.00	\$615.00	\$5,535.00	\$1,212.00	\$10,908.00	\$700.00	\$6,300.00
ST-16	Core Drill Existing Structure	EA	1	\$500.00	\$500.00	\$500.00	\$500.00	\$2,000.00	\$2,000.00	\$1,800.00	\$1,800.00	\$1,515.00	\$1,515.00	\$1,800.00	\$1,800.00
ST-17	Storm Sewer Dig Down and Repair (10-Foot Spot Repair)	EA	2	\$4,450.00	\$8,900.00	\$4,000.00	\$8,000.00	\$4,000.00	\$8,000.00	\$2,920.00	\$5,840.00	\$4,144.35	\$8,288.70	\$3,400.00	\$6,800.00
ST-18	Storm Sewer Dig Down and Repair (5-Foot Spot Repair)	EA	2	\$3,300.00	\$6,600.00	\$3,150.00	\$6,300.00	\$5,000.00	\$10,000.00	\$2,615.00	\$5,230.00	\$4,213.93	\$8,427.86	\$3,315.00	\$6,630.00
ST-19	Storm Sewer Outfall Repair (Front Street)	LS	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$4,500.00	\$4,500.00	\$4,600.00	\$4,600.00	\$2,954.25	\$2,954.25	\$3,000.00	\$3,000.00
ST-20	Abandon/Remove Existing Storm Sewer Appurtenances	LS	1	\$1,750.00	\$1,750.00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	\$2,420.00	\$2,420.00	\$2,525.00	\$2,525.00	\$6,750.00	\$6,750.00
WATER M															
W-01	Provide 8" PVC Water Main	LF	2525	\$95.50	\$241,137.50	\$98.00	\$247,450.00	\$95.00	\$239,875.00	\$103.00	\$260,075.00	\$89.32	\$225,533.00	\$95.00	\$239,875.00
W-02	Provide 1" HDPE Water Service	LF	925	\$76.70	\$70,947.50	\$60.00	\$55,500.00	\$63.00	\$58,275.00	\$61.00	\$56,425.00	\$58.14	\$53,779.50	\$87.00	\$80,475.00
W-03	Provide 1" HDPE Water Service - Kiwanis Park (Open Cut)	LF	125	\$81.00	\$10,125.00	\$89.00	\$11,125.00	\$63.00	\$7,875.00	\$92.00	\$11,500.00	\$47.32	\$5,915.00	\$70.00	\$8,750.00
W-04	Provide 1" Corporation and Curb Stop	EA	26	\$515.00	\$13,390.00	\$540.00	\$14,040.00	\$525.00	\$13,650.00	\$595.00	\$15,470.00	\$1,210.17	\$31,464.42	\$700.00	\$18,200.00
W-05	Provide 1" Corporation and Curb Stop - Kiwanis Park	EA	1	\$472.00	\$472.00	\$540.00	\$540.00	\$1,000.00	\$1,000.00	\$1,285.00	\$1,285.00	\$1,173.62	\$1,173.62	\$700.00	\$700.00



ALL			BIDDER NO. 1		BIDDER NO. 2		BIDDER NO. 3		BIDDER NO. 4		BIDDER NO. 5		BIDDER NO. 6		
7				Kruczek Construction, Inc.		David Tenor Corporation		Jossart Brothers, Inc.		PTS Contractors, Inc.		De Groot, Inc.		Feaker & Sons Co., Inc.	
ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
W-06	Provide 2" Corporation with Plug/Saddle with 2" Galvanized Pipe	EA	5	\$1,900.00	\$9,500.00	\$950.00	\$4,750.00	\$750.00	\$3,750.00	\$580.00	\$2,900.00	\$2,070.50	\$10,352.50	\$1,425.00	\$7,125.00
W-07	Provide 8" Gate Valve	EA	11	\$2,970.00	\$32,670.00	\$2,735.00	\$30,085.00	\$2,975.00	\$32,725.00	\$2,700.00	\$29,700.00	\$3,021.92	\$33,241.12	\$2,790.00	\$30,690.00
W-08	Provide 6" Gate Valve	EA	5	\$2,120.00	\$10,600.00	\$1,970.00	\$9,850.00	\$2,125.00	\$10,625.00	\$1,950.00	\$9,750.00	\$2,246.24	\$11,231.20	\$2,050.00	\$10,250.00
W-09	Provide Connection to Existing Water Main	EA	9	\$1,400.00	\$12,600.00	\$3,500.00	\$31,500.00	\$2,250.00	\$20,250.00	\$1,730.00	\$15,570.00	\$2,844.84	\$25,603.56	\$2,845.00	\$25,605.00
W-10	Provide Hydrant (7.5' Bury)	EA	1	\$6,479.77	\$6,479.77	\$5,900.00	\$5,900.00	\$5,800.00	\$5,800.00	\$5,685.00	\$5,685.00	\$6,536.72	\$6,536.72	\$5,700.00	\$5,700.00
W-11	Provide Hydrant (6.5' Bury)	EA	2	\$6,200.00	\$12,400.00	\$5,750.00	\$11,500.00	\$5,600.00	\$11,200.00	\$5,500.00	\$11,000.00	\$6,342.80	\$12,685.60	\$5,505.00	\$11,010.00
W-12	Provide Hydrant (6.0' Bury)	EA	1	\$6,100.00	\$6,100.00	\$5,600.00	\$5,600.00	\$5,500.00	\$5,500.00	\$5,400.00	\$5,400.00	\$6,245.84	\$6,245.84	\$5,410.00	\$5,410.00
W-13	Provide Hydrant (5.5' Bury)	EA	1	\$6,000.00	\$6,000.00	\$5,500.00	\$5,500.00	\$5,400.00	\$5,400.00	\$5,300.00	\$5,300.00	\$6,147.87	\$6,147.87	\$5,315.00	\$5,315.00
W-14	Provide 6" PVC Hydrant Lead	LF	75	\$77.00	\$5,775.00	\$72.00	\$5,400.00	\$80.00	\$6,000.00	\$107.00	\$8,025.00	\$72.35	\$5,426.25	\$116.00	\$8,700.00
W-15	Provide 1/2 Vertical Offset	EA	1	\$2,320.00	\$2,320.00	\$2,250.00	\$2,250.00	\$2,500.00	\$2,500.00	\$3,625.00	\$3,625.00	\$2,903.75	\$2,903.75	\$1,800.00	\$1,800.00
W-16	Water Meter Assembly	LS	1	\$2,260.00	\$2,260.00	\$4,000.00	\$4,000.00	\$2,200.00	\$2,200.00	\$3,650.00	\$3,650.00	\$2,777.50	\$2,777.50	\$5,550.00	\$5,550.00
W-17	Abandon/Remove Water Main and Appurtenances	LS	1	\$9,400.00	\$9,400.00	\$3,000.00	\$3,000.00	\$14,000.00	\$14,000.00	\$10,900.00	\$10,900.00	\$10,605.00	\$10,605.00	\$24,150.00	\$24,150.00
STREET AN	D DRAINAGE														
SD-01	Provide Clearing and Grubbing	In Dia	80	\$50.00	\$4,000.00	\$98.00	\$7,840.00	\$100.00	\$8,000.00	\$50.00	\$4,000.00	\$101.00	\$8,080.00	\$98.00	\$7,840.00
SD-02	Unclassified Excavation	CY	875	\$25.00	\$21,875.00	\$15.40	\$13,475.00	\$48.50	\$42,437.50	\$48.00	\$42,000.00	\$47.98	\$41,982.50	\$48.55	\$42,481.25
SD-03	Unclassified Excavation and Site Restoration - Kiwanis Park	LS	1	\$7,450.00	\$7,450.00	\$18,540.00	\$18,540.00	\$7,000.00	\$7,000.00	\$6,200.00	\$6,200.00	\$5,807.50	\$5,807.50	\$8,335.00	\$8,335.00
SD-04	Pulverize Asphaltic Concrete Pavement and Aggregate (10" Depth)	SY	7875	\$2.00	\$15,750.00	\$2.14	\$16,852.50	\$2.16	\$17,010.00	\$2.20	\$17,325.00	\$2.18	\$17,167.50	\$2.15	\$16,931.25
SD-05	Mill Asphaltic Concrete Pavement 1 3/4" Depth	SY	3760	\$2.50	\$9,400.00	\$2.50	\$9,400.00	\$2.52	\$9,475.20	\$2.50	\$9,400.00	\$2.55	\$9,588.00	\$2.55	\$9,588.00
SD-06	Mill Asphaltic Concrete Pavement Additional 4" Depth (Overmill Areas)	SY	100	\$14.25	\$1,425.00	\$13.85	\$1,385.00	\$14.00	\$1,400.00	\$13.85	\$1,385.00	\$14.15	\$1,415.00	\$14.00	\$1,400.00
SD-07	Crack Overmilling 4" Depth (2' Wide) - VFW Park	LF	40	\$38.25	\$1,530.00	\$38.75	\$1,550.00	\$39.15	\$1,566.00	\$38.70	\$1,548.00	\$39.53	\$1,581.20	\$39.15	\$1,566.00
SD-08	Provide 1 1/4" Crushed Aggregate Base Course	TON	1450	\$17.50	\$25,375.00	\$18.00	\$26,100.00	\$15.40	\$22,330.00	\$15.25	\$22,112.50	\$17.17	\$24,896.50	\$15.40	\$22,330.00
SD-09	Provide Asphaltic Concrete Pavement Type 4 LT 58-28 S, 2" Upper Layer (Smits Street and Ridgeway Drive)	TON	850	\$75.60	\$64,260.00	\$75.65	\$64,302.50	\$76.40	\$64,940.00	\$76.00	\$64,600.00	\$77.19	\$65,611.50	\$76.45	\$64,982.50
SD-10	Provide Asphaltic Concrete Pavement Type 4 LT 58-28 S, 1 3/4" Upper Layer (Ridgeway Drive)	TON	500	\$75.60	\$37,800.00	\$76.70	\$38,350.00	\$77.45	\$38,725.00	\$76.60	\$38,300.00	\$78.23	\$39,115.00	\$77.50	\$38,750.00
SD-11	Provide Asphaltic Concrete Pavement Type 4 LT 58-28 S, 1 3/4" Upper Layer (Alleys)	TON	180	\$93.50	\$16,830.00	\$93.80	\$16,884.00	\$94.75	\$17,055.00	\$93.70	\$16,866.00	\$95.71	\$17,227.80	\$94.75	\$17,055.00
SD-12	Provide Asphaltic Concrete Pavement Type 3 LT 58-28 S, 3" Lower Layer (Ridgeway Drive)	TON	600	\$70.00	\$42,000.00	\$69.90	\$41,940.00	\$70.60	\$42,360.00	\$69.80	\$41,880.00	\$71.32	\$42,792.00	\$70.60	\$42,360.00
SD-13	Provide Asphaltic Concrete Pavement Type 3 LT 58-28 S, 2 1/4" Lower Layer (Ridgeway Drive)	TON	650	\$70.00	\$45,500.00	\$39.90	\$25,935.00	\$70.60	\$45,890.00	\$69.80	\$45,370.00	\$71.32	\$46,358.00	\$70.60	\$45,890.00
SD-14	Provide Asphaltic Concrete Pavement Type 3 LT 58-28 S, 2 1/4" Lower Layer (Alleys)	TON	225	\$82.50	\$18,562.50	\$82.60	\$18,585.00	\$83.45	\$18,776.25	\$82.50	\$18,562.50	\$84.26	\$18,958.50	\$83.45	\$18,776.25
SD-15	Provide Asphaltic Concrete Pavement Type 3 LT 58-28 S, 2" Lower Layer (Smits Street)	TON	200	\$70.00	\$14,000.00	\$69.90	\$13,980.00	\$70.60	\$14,120.00	\$69.80	\$13,960.00	\$71.32	\$14,264.00	\$70.60	\$14,120.00
SD-16	Provide Asphaltic Concrete Pavement Type 4 LT 58-28 S, 2" Upper Layer (VFW Basketball Court) (Overlay)	TON	60	\$97.00	\$5,820.00	\$96.90	\$5,814.00	\$97.85	\$5,871.00	\$96.70	\$5,802.00	\$98.83	\$5,929.80	\$97.85	\$5,871.00
SD-17	Provide Asphaltic Concrete Pavement Type 4 LT 58-28 S, 4" Lower Layer (VFW Basketball Court)	TON	10	\$214.00	\$2,140.00	\$219.00	\$2,190.00	\$221.50	\$2,215.00	\$220.00	\$2,200.00	\$223.66	\$2,236.60	\$221.45	\$2,214.50
SD-18	Provide Asphalt Patch - Kiwanis Park	SY	40	\$50.00	\$2,000.00	\$52.00	\$2,080.00	\$52.50	\$2,100.00	\$52.00	\$2,080.00	\$53.06	\$2,122.40	\$52.55	\$2,102.00
SD-19	Provide Asphalt Patch	SY	20	\$66.00	\$1,320.00	\$66.25	\$1,325.00	\$67.00	\$1,340.00	\$66.00	\$1,320.00	\$67.62	\$1,352.40	\$67.00	\$1,340.00



Security				BIDDER NO. 1		BIDDER NO. 2		BIDDER NO. 3		BIDDER NO. 4		BIDDER NO. 5		BIDDE	ER NO. 6	
Section Sect	7			Kruczek Construction, Inc.		David Tenor Corporation		Jossart Brothers, Inc.		PTS Contractors, Inc.		De Groot, Inc.		Feaker & Sons Co., Inc.		
Section Count Co	ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
Section Form Form Form Form Form Form Form Section Secti	SD-20		LF	1250	\$21.40	\$26,750.00	\$30.40	\$38,000.00	\$32.00	\$40,000.00	\$26.00	\$32,500.00	\$29.63	\$37,037.50	\$30.55	\$38,187.50
Sp-22 Park LF 25 S54.00 \$1,350.00 \$81.23 \$1,550.75 \$75.00 \$1,870.00 \$1,870.00 \$86.70 \$1,850.00 \$84.14 \$1,863.50 \$78.70 \$1,550.00 \$87.70 \$1,050.50 \$1,850.00 \$84.14 \$1,863.50 \$78.70 \$1,050.50 \$1,870.00 \$1,870	SD-21		LF	1900	\$54.00	\$102,600.00	\$61.23	\$116,337.00	\$71.50	\$135,850.00	\$62.20	\$118,180.00	\$66.17	\$125,723.00	\$72.75	\$138,225.00
SD-24 Remove and Replace 24" Concrete Curb and Gutter interpol LF 40 \$18.30 \$32.00 \$33.00 \$33.44.00 \$32.00 \$12.80.00 \$35.00.00	SD-22	·	LF	25	\$54.00	\$1,350.00	\$61.23	\$1,530.75	\$75.00	\$1,875.00	\$66.20	\$1,655.00	\$64.14	\$1,603.50	\$76.70	\$1,917.50
Sp-25 Provide Sidewalk Redestition Cute Hood IF 60 \$50.00 \$3,000.00 \$40.00 \$2,448.00 \$51.50 \$3,000.00 \$51.00 \$3,060.00 \$52.02 \$3,121.20 \$83.25	SD-23	Remove and Replace 30" Concrete Curb and Gutter	LF	25	\$54.00	\$1,350.00	\$61.23	\$1,530.75	\$71.50	\$1,787.50	\$62.20	\$1,555.00	\$64.14	\$1,603.50	\$72.75	\$1,818.75
SP 26 Remove and Replace 9-inch Doweled Concrete Pavement (IfES 3DAY) S10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$11.00 \$12.75 \$10.00 \$12.75 \$10.00 \$10.00 \$10.00 \$11.00	SD-24	Remove and Replace 24" Concrete Curb and Gutter Integral	LF	40	\$18.30	\$732.00	\$33.60	\$1,344.00	\$32.00	\$1,280.00	\$26.60	\$1,064.00	\$27.72	\$1,108.80	\$27.50	\$1,100.00
SP-26 (HES-3DAY) SP-27	SD-25		LF	60	\$50.00	\$3,000.00	\$40.80	\$2,448.00	\$51.50	\$3,090.00	\$51.00	\$3,060.00	\$52.02	\$3,121.20	\$63.55	\$3,813.00
SP-27 Curb SP-27 Curb SP 130 S100.00 S13,000.00 S95,64 S12,459,20 S114.00 S14,620.00 S108.00 S117.10 S15,223.00 S121.55	SD-26	· '	SY	75	\$107.00	\$8,025.00	\$104.14	\$7,810.50	\$123.00	\$9,225.00	\$115.00	\$8,625.00	\$127.51	\$9,563.25	\$127.75	\$9,581.25
SP-28 Driveway SP-29 Driveway SP-29 SP-20	SD-27		SY	130	\$100.00	\$13,000.00	\$95.84	\$12,459.20	\$114.00	\$14,820.00	\$108.00	\$14,040.00	\$117.10	\$15,223.00	\$121.55	\$15,801.50
SD-20 Provide 9" Concrete Pad - Kiwanis Park SY 400 \$63.75 \$25,500.00 \$86.46 \$34,256.00 \$75.00 \$30,000.00 \$76.00 \$30,400.00 \$84.19 \$33,676.00 \$88.65 \$8.20 \$	SD-28		SY	60	\$68.00	\$4,080.00	\$94.84	\$5,690.40	\$80.00	\$4,800.00	\$77.00	\$4,620.00	\$85.89	\$5,153.40	\$89.65	\$5,379.00
Sp.31 Remove and Replace 4" Concrete Sidewalk, Ramp, and Driveway Sp. 420 \$59.00 \$24,780.00 \$79.56 \$33,415.20 \$68.00 \$28,560.00 \$67.00 \$28,140.00 \$85.29 \$35,821.80 \$80.00 \$10.00	SD-29		SY	400	\$63.75	\$25,500.00	\$85.64	\$34,256.00	\$75.00	\$30,000.00	\$76.00	\$30,400.00	\$84.19	\$33,676.00	\$88.65	\$35,460.00
SP-31 Driveway SP-32 Remove and Replace 4" Concrete Sidewalk - Kiwanis Park SY 40 \$59.00 \$24,780.00 \$79.56 \$33,415.20 \$68.00 \$29,660.00 \$67.00 \$28,140.00 \$80.54 \$32,21.60 \$81.00 \$80.54 \$32,21.60 \$81.00 \$80.54 \$32,21.60 \$81.00 \$80.54 \$32,21.60 \$81.00 \$80.54 \$32,21.60 \$81.00 \$80.54 \$32,21.60 \$81.00 \$80.54 \$32,21.60 \$81.00 \$80.54 \$80.00 \$80.0	SD-30	Provide 6" Concrete Pad - Kiwanis Park	SY	5	\$82.00	\$410.00	\$91.80	\$459.00	\$75.00	\$375.00	\$185.00	\$925.00	\$98.22	\$491.10	\$98.55	\$492.75
SD-33 Provide #4 Reinforcement Bars for Curb and Sidewalk LF 3100 \$2.00 \$6,200.00 \$2.04 \$6,324.00 \$2.05 \$6,355.00 \$2.00 \$6,200.00 \$2.08 \$6,448.00 \$2.05 \$0.00 \$2.04 \$0.00	SD-31		SY	420	\$59.00	\$24,780.00	\$79.56	\$33,415.20	\$68.00	\$28,560.00	\$67.00	\$28,140.00	\$85.29	\$35,821.80	\$80.00	\$33,600.00
SD-34 Drilled Tile Bars (Existing Sidewalk, Driveway, and Curb and Gutter)	SD-32	Remove and Replace 4" Concrete Sidewalk - Kiwanis Park	SY	40	\$59.00	\$2,360.00	\$75.50	\$3,020.00	\$65.00	\$2,600.00	\$61.00	\$2,440.00	\$80.54	\$3,221.60	\$71.70	\$2,868.00
SD-34 Gutter EA 650 \$8.00 \$5,200.00 \$8.25 \$5,362.50 \$8.00 \$5,200.00 \$8.32 \$5,408.00 \$8.25 \$5.362.50 \$8.00 \$5,200.00 \$8.32 \$5,408.00 \$8.25 \$5.362.50 \$1.000 \$1	SD-33	Provide #4 Reinforcement Bars for Curb and Sidewalk	LF	3100	\$2.00	\$6,200.00	\$2.04	\$6,324.00	\$2.05	\$6,355.00	\$2.00	\$6,200.00	\$2.08	\$6,448.00	\$2.05	\$6,355.00
SD-36 Drilled Tie Bars (Concrete Pavement) EA 60 \$10.00 \$600.00 \$12.25 \$735.00 \$10.30 \$618.00 \$10.00 \$600.00 \$12.48 \$748.80 \$10.30 \$1	SD-34	1	EA	650	\$8.00	\$5,200.00	\$5.08	\$3,302.00	\$8.25	\$5,362.50	\$8.00	\$5,200.00	\$8.32	\$5,408.00	\$8.25	\$5,362.50
SD-37 Provide Detectable Warning Field (5'-Natural Patina) EA 24 \$357.00 \$8,568.00 \$8,304.00 \$360.00 \$8,640.00 \$356.00 \$8,544.00 \$364.11 \$8,738.64 \$360.00 \$D-38 Landscaping - Topsoil, Seed, Fertilizer and Mulch SY 300 \$10.00 \$3,000.00 \$8.75 \$2,625.00 \$12.50 \$3,750.00 \$12.00 \$3,600.00 \$20.20 \$6,660.00 \$18.50 \$D-39 Regrade and Restore Terrace (Ridgeway and Smits) SY 10 \$50.00 \$500.00 \$500.00 \$51.50 \$515.00 \$42.00 \$440.00 \$41.00 \$410.00 \$85.85 \$858.50 \$46.35 \$D-40 Remove and Reset Retaining Wall EA 2 \$6,100.00 \$12,200.00 \$1,100.00 \$2,200.00 \$3,600.00 \$7,200.00 \$2,000.00 \$4,040.00 \$10,300.00 \$PCIAL CONSTRUCTION			EA	70	\$14.50	\$1,015.00	\$20.40	\$1,428.00	\$15.45	\$1,081.50	\$15.00	\$1,050.00	\$15.60	\$1,092.00	\$15.45	\$1,081.50
SD-38 Landscaping - Topsoil, Seed, Fertilizer and Mutch SY 300 \$10.00 \$3,000.00 \$8.75 \$2,625.00 \$12.50 \$3,750.00 \$12.00 \$3,600.00 \$20.20 \$6,060.00 \$18.50 \$1.5			EA	60	<u> </u>	\$600.00	\$12.25			\$618.00	\$10.00		\$12.48		\$10.30	\$618.00
SD-39 Regrade and Restore Terrace (Ridgeway and Smits) SY 10 \$50.00 \$50.00 \$515.00 \$42.00 \$42.00 \$41.00 \$410.00 \$85.85 \$858.50 \$46.35 SD-40 Remove and Reset Retaining Wall EA 2 \$6,100.00 \$1,200.00 \$1,100.00 \$2,200.00 \$3,600.00 \$7,200.00 \$2,000.00 \$40,000 \$10,300.00 SPECIAL CONSTRUCTION SC-01 Inlet Protection Type D EA 45 \$100.00 \$4,000.00 \$125.00 \$5,625.00 \$120.00 \$5,600.00 \$10,000.00 SC-02 Adjust Inlet Less Than 1-Foot EA 2 \$600.00 \$1,000.00 \$2,000.00 \$600.00 \$1,040.00 \$883.75 \$1,767.50 \$650.00 SC-03 Adjust Inlet Less Than 1-Foot or Greater EA 4 \$870.00 \$1,400.00 \$1,400.00 \$1,450.00 \$1,255.00 \$1,717.00 \$1,717.00 \$1,717.00 \$1,717.00 \$1,717.00 \$1,717.00 \$1,250.00 \$2,000.00 \$2,000.00 \$1,450.00 \$1,255.00 <t< td=""><td>SD-37</td><td></td><td>EA</td><td>24</td><td>\$357.00</td><td>\$8,568.00</td><td>\$346.00</td><td>· ·</td><td></td><td>,</td><td>\$356.00</td><td>\$8,544.00</td><td></td><td>\$8,738.64</td><td></td><td>\$8,640.00</td></t<>	SD-37		EA	24	\$357.00	\$8,568.00	\$346.00	· ·		,	\$356.00	\$8,544.00		\$8,738.64		\$8,640.00
SD-40 Remove and Reset Retaining Wall EA 2 \$6,100.00 \$1,100.00 \$2,200.00 \$3,600.00 \$7,200.00 \$3,600.00 \$7,200.00 \$2,020.00 \$4,040.00 \$10,300.00 \$10,300.00 \$10,300.00 \$10,300.00 \$10,300.00 \$10,300.00 \$10,300.00 \$10,300.00 \$10,300.00 \$10,300.00 \$10,000.00				300		· ·		· ·		,						\$5,550.00
SPECIAL CONSTRUCTION SC-01 Inlet Protection Type D EA 45 \$100.00 \$4,500.00 \$90.00 \$4,050.00 \$125.00 \$5,625.00 \$120.00 \$5,400.00 \$126.25 \$5,681.25 \$100.00 SC-02 Adjust Inlet Less Than 1-Foot EA 2 \$600.00 \$1,200.00 \$2,000.00 \$600.00 \$1,200.00 \$520.00 \$1,040.00 \$883.75 \$1,767.50 \$650.00 SC-03 Adjust Inlet 1-Foot or Greater EA 4 \$870.00 \$3,480.00 \$1,600.00 \$6,400.00 \$750.00 \$3,000.00 \$1,255.00 \$1,111.00 \$4,444.00 \$700.00 SC-04 Adjust Inlet 8 Provide New Casting EA 1 \$1,400.00 \$1,400.00 \$1,450.00 \$1,255.00 \$1,717.00 \$1,717.00 \$1,350.00 SC-05 Adjust Manhole Less Than 1-Foot EA 3 \$600.00 \$1,000.00 \$3,000.00 \$1,500.00 \$2,475.00 \$8585.50 \$2,575.50 \$550.00 SC-06 Adjust Manhole 1-Foot or Greater EA 2		, , ,		10	+							•				\$463.50
SC-01 Inlet Protection Type D EA 45 \$100.00 \$4,500.00 \$90.00 \$4,000.00 \$125.00 \$5,625.00 \$120.00 \$5,400.00 \$126.25 \$5,681.25 \$100.00 SC-02 Adjust Inlet Less Than 1-Foot EA 2 \$600.00 \$1,200.00 \$2,000.00 \$600.00 \$1,200.00 \$5,400.00 \$883.75 \$1,767.50 \$650.00 SC-03 Adjust Inlet Less Than 1-Foot or Greater EA 4 \$870.00 \$1,400.00 \$1,400.00 \$750.00 \$3,000.00 \$1,255.00 \$1,717.00 \$1,717.00 \$1,735.00 \$2,575.50 \$1,717.00 \$1,717.00 \$1,350.00 \$1,400.00 \$1,			EA	2	\$6,100.00	\$12,200.00	\$1,100.00	\$2,200.00	\$3,600.00	\$7,200.00	\$3,600.00	\$7,200.00	\$2,020.00	\$4,040.00	\$10,300.00	\$20,600.00
SC-02 Adjust Inlet Less Than 1-Foot EA 2 \$600.00 \$1,200.00 \$2,000.00 \$600.00 \$1,200.00 \$1,040.00 \$883.75 \$1,767.50 \$650.00 SC-03 Adjust Inlet 1-Foot or Greater EA 4 \$870.00 \$1,600.00 \$6,400.00 \$750.00 \$3,000.00 \$1,375.00 \$5,500.00 \$1,111.00 \$4,444.00 \$700.00 SC-04 Adjust Inlet & Provide New Casting EA 1 \$1,400.00 \$1,400.00 \$1,450.00 \$1,255.00 \$1,717.00 \$1,350.00 SC-05 Adjust Manhole Less Than 1-Foot EA 3 \$600.00 \$1,000.00 \$3,000.00 \$1,500.00 \$2,475.00 \$858.50 \$2,575.50 \$550.00 SC-06 Adjust Manhole 1-Foot or Greater EA 2 \$870.00 \$1,400.00 \$1,500.00 \$3,000.00 \$1,375.00 \$2,750.00 \$1,200.00 SC-06 Adjust Manhole Less Than 1-Foot & Provide New Casting EA 2 \$870.00 \$1,400.00 \$2,800.00 \$1,500.00 \$3,000.00 \$1,375.00 \$2,750.00					1		4		4		4		I			
SC-03 Adjust Inlet 1-Foot or Greater EA 4 \$870.00 \$3,480.00 \$1,600.00 \$6,400.00 \$750.00 \$3,000.00 \$1,375.00 \$5,500.00 \$1,111.00 \$4,444.00 \$700.00 SC-04 Adjust Inlet & Provide New Casting EA 1 \$1,400.00 \$1,400.00 \$1,400.00 \$1,450.00 \$1,255.00 \$1,717.00 \$1,717.00 \$1,350.00 SC-05 Adjust Manhole Less Than 1-Foot EA 3 \$600.00 \$1,400.00 \$1,000.00 \$3,000.00 \$1,500.00 \$2,475.00 \$858.50 \$2,575.50 \$550.00 SC-06 Adjust Manhole 1-Foot or Greater EA 2 \$870.00 \$1,400.00 \$1,500.00 \$3,000.00 \$1,375.00 \$2,750.00 \$1,200.00 SC-07 Adjust Manhole Less Than 1-Foot & Provide New Casting EA 5 \$1,250.00 \$1,300.00 \$6,500.00 \$1,150.00 \$5,750.00 \$1,388.75 \$6,943.75 \$1,075.00																\$4,500.00
SC-04 Adjust Inlet & Provide New Casting EA 1 \$1,400.00 \$1,400.00 \$1,400.00 \$1,450.00 \$1,450.00 \$1,255.00 \$1,717.00 \$1,717.00 \$1,350.00 SC-05 Adjust Manhole Less Than 1-Foot EA 3 \$600.00 \$1,800.00 \$3,000.00 \$500.00 \$1,500.00 \$2,475.00 \$858.50 \$2,575.50 \$550.00 SC-06 Adjust Manhole 1-Foot or Greater EA 2 \$870.00 \$1,400.00 \$1,500.00 \$3,000.00 \$3,000.00 \$1,375.00 \$2,750.00 \$1,060.50 \$2,121.00 \$1,200.00 SC-07 Adjust Manhole Less Than 1-Foot & Provide New Casting EA 5 \$1,250.00 \$6,250.00 \$1,300.00 \$5,750.00 \$1,165.00 \$5,825.00 \$1,388.75 \$6,943.75 \$1,075.00		•		2						·						\$1,300.00
SC-05 Adjust Manhole Less Than 1-Foot EA 3 \$600.00 \$1,800.00 \$1,000.00 \$500.00 \$1,500.00 \$2,475.00 \$858.50 \$2,575.50 \$550.00 SC-06 Adjust Manhole 1-Foot or Greater EA 2 \$870.00 \$1,400.00 \$2,800.00 \$1,500.00 \$3,000.00 \$1,375.00 \$2,750.00 \$1,060.50 \$2,121.00 \$1,200.00 SC-07 Adjust Manhole Less Than 1-Foot & Provide New Casting EA 5 \$1,250.00 \$1,300.00 \$6,500.00 \$1,150.00 \$5,750.00 \$1,388.75 \$6,943.75 \$1,075.00		· ·		4												\$2,800.00
SC-06 Adjust Manhole 1-Foot or Greater EA 2 \$870.00 \$1,740.00 \$1,400.00 \$2,800.00 \$1,500.00 \$3,000.00 \$1,375.00 \$2,750.00 \$1,060.50 \$2,121.00 \$1,200.00 SC-07 Adjust Manhole Less Than 1-Foot & Provide New Casting EA 5 \$1,250.00 \$1,300.00 \$1,150.00 \$5,750.00 \$1,165.00 \$5,825.00 \$1,388.75 \$6,943.75 \$1,075.00		·		2						·						\$1,350.00
SC-07 Adjust Manhole Less Than 1-Foot & Provide New Casting EA 5 \$1,250.00 \$6,250.00 \$1,300.00 \$6,500.00 \$1,150.00 \$5,750.00 \$1,165.00 \$5,825.00 \$1,388.75 \$6,943.75 \$1,075.00		•		ა ი	+					·						\$1,650.00 \$2,400.00
		· ·		5	+										·	\$5,375.00
SC-08 Adjust Manhole 1-Foot or Greater & Provide New Casting		-		2	+					·	-				·	\$3,530.00
SC-09 Adjust Manhole & Provide New Casting (Neenah R-1510-A) 6" EA 1 \$1,700.00 \$1,850.00 \$1,850.00 \$1,800.		Adjust Manhole & Provide New Casting (Neenah R-1510-A) 6"		1												\$1,100.00
SC-10 Polystyrene Insulation Board LF 50 \$20.00 \$1,000.00 \$3.00 \$150.00 \$7.50 \$375.00 \$7.00 \$350.00 \$12.12 \$606.00 \$10.00	SC-10		LF	50	\$20.00	\$1,000.00	\$3.00	\$150.00	\$7.50	\$375.00	\$7.00	\$350.00	\$12.12	\$606.00	\$10.00	\$500.00
SC-11 Temporary MailBox EA 5 \$100.00 \$500.00 \$1,250.00 \$1,050.00 \$100.00 \$500.00 \$101.00 \$505.00 \$125.00				5												\$625.00
SC-12 Pavement Marking Epoxy Line 12" White LF 50 \$5.00 \$250.00 \$5.15 \$257.50 \$5.15 \$257.50 \$5.00 \$250.00 \$5.30 \$265.00 \$5.15				50	+			·		·						\$257.50



					BIDDER NO. 1 Kruczek Construction, Inc.		BIDDER NO. 2 David Tenor Corporation		BIDDER NO. 3		BIDDER NO. 4 PTS Contractors, Inc.		BIDDER NO. 5 De Groot, Inc.		ER NO. 6
				ļ ,				Jossart Brothers, Inc.		,		, ,		Feaker & Sons Co., Inc.	
ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
SC-13	Pavement Marking Epoxy Line 4" Yellow	LF	2550	\$2.00	\$5,100.00	\$2.05	\$5,227.50	\$2.06	\$5,253.00	\$2.00	\$5,100.00	\$2.12	\$5,406.00	\$2.06	\$5,253.00
SC-14	Pavement Marking "ONLY" Word (White)	EA	1	\$357.00	\$357.00	\$360.00	\$360.00	\$360.00	\$360.00	\$360.00	\$360.00	\$371.18	\$371.18	\$360.00	\$360.00
SC-15	Pavement Marking Arrow Epoxy Type 2 (White)	EA	1	\$357.00	\$357.00	\$355.00	\$355.00	\$355.00	\$355.00	\$355.00	\$355.00	\$365.87	\$365.87	\$355.00	\$355.00
SC-16	Pavement Marking Arrow Epoxy Type 3 (White)	EA	1	\$357.00	\$357.00	\$360.00	\$360.00	\$360.00	\$360.00	\$356.00	\$356.00	\$371.18	\$371.18	\$360.00	\$360.00
SC-17	Traffic Control - Ridgeway Drive and Smits Street	LS	1	\$11,600.00	\$11,600.00	\$6,950.00	\$6,950.00	\$7,500.00	\$7,500.00	\$7,608.00	\$7,608.00	\$7,211.40	\$7,211.40	\$7,005.00	\$7,005.00
SC-18	Traffic Control - Alleys	LS	1	\$1,000.00	\$1,000.00	\$1,550.00	\$1,550.00	\$1,600.00	\$1,600.00	\$1,530.00	\$1,530.00	\$1,590.75	\$1,590.75	\$1,545.00	\$1,545.00
SC-19	Traffic Control - Broadway Street Sewer Repair	LS	1	\$1,100.00	\$1,100.00	\$2,450.00	\$2,450.00	\$4,500.00	\$4,500.00	\$2,445.00	\$2,445.00	\$2,545.20	\$2,545.20	\$2,475.00	\$2,475.00
		TOTAL AMOUNT BID:		\$1,577,777.77		\$1,651,082.24		\$1,696,106.95		\$1,705,555.00		\$1,734,902.53		\$1,812,207.00	